MEExHILT (RRA)
EEH HM4F3A318
fEX B ANF R

% 4 |REhEE
BT O7E o |SEEBTAE £ 1E26

#H 3R (| BERER X & [6A
HERXS |1TBEE #BEUAEE |H
iEEmR (K8 [ PREE RER iR mR (P8 [PER

BT - B R [—
BT -AfEE |THER-BIER-#HH

EEEEE [—
EHEPE |[BEE EFR AR (m) 8,234.56
BoEfshe  [B¥MEER EEmEm) 8,234.56
THERE  [ET ot mE A (m) 34,600.00 EEE
AR E |RiN44F4818 R 305
RERI |FREEE-ERENIEROFREICET 555
IRIEMERE 20—7 ZEMKL | TLR—%5— EELVA mFEJavy F9Y Z D
(Y77 —1ER) %t i R KRG KRG KRG —& —
BAT5 R
Q&% H (A EERC) (FA)  ((A/m) [FHDHEFE) (F/A)
=3 P FRE31ERE| SF2EE | SF3EE
40,000 1,400,000
HEEERICHANIRBRE 11,380 32,608 136,592 45000
B 3,601 3,470 4,489 ' 1,200,000
HAK 23 41 27| 300 1,000,000
PREHE 674 942 922| |00 800000
m| £ TFKER 2,256 2,055 2,565( [20000 600000
ZTONEE 0 0 0| [15000
Rgres 1,635 1,651 842| |10000 | 400,000
IFE 3,190 24,449  127,748| | 5000 | 200,000
BEZIHGEEEEHNED) 0 0 0 ol 0
Tih-BYDERR 0 0 0 TREE  HHEE SHEE
OFEA (FR) A/ [FADHEFE] (A/N)
X i ERBIFEE| SH2EE | SHIEE ; :
FERAMEZEDIZA 0 0 0
FERH 0 0 0 08 08
Mot & 0 0 0
=R whe-aEs 0 0 0 06 06
ZDfth 0 0 0
04 04
Q@ERARNARNSU XL T (BE-BA. SEOELE) 02 02
MEER K9 58 | E R B R R e "
X % &8 (FH) A/ m A A 0 0
THRIEE 11,380] &1 1382] i 26,776] 1L FRIFE  SHEE SRR
SH2EE 32,608 1L 3,960 1L 72,302| F1fL
DHIEE 136,592 14 16,588| F14L 298,236| BEAGL | | F| %G| I EREEH Y —B— 1AHY
Bl g1 EFREREHY —h— 1ABHT=Y
HESTEER
W [T XRrDH#HEE]
= % FRIEE | HH2EE | HRBEE 5| | o
£ 425 451 458 & ggg
SEBEE 12 13 13 300

250 -
200 T
150
100
50

o0

FRIEE SH2EE SMIEE
[ ALl [

FFECEIE

MBEXATE




B&EHILT (BYIFHR—% 1~50)

E%XH HM44E3[31H

MR E AR IER
% 2 ([MRERER

AT o o |SEEBTHEFEE26

EYR) EXIER

= BN E %ﬁéﬁ? ThHE | BREAH mﬁa& Eﬁ %@51 #ht [T ﬁ{imiﬁf; g% ?E B
1[&& i .ﬁffafm:'” mBiaEa 1A 47 53 [ 1000 | 3 | 0o | 519100 1B | =i | =i
2|BEEES i e Bis4E4R18| 31 53 | 1000 | 1 | O 4708 1A — —
3|mE i B Bis4E4R1B| 31 53 | 1000 | 1 | O 504| IB — —
4|ME e (B mi4sFE4 18| 31 53 | 1000 | 1 0 504 1B — —
5(E e (B mi4aE4A1B| 31 53 | 1000 | 1 0 8372 A — —
6|mE i e Bis4E4R18| 31 53 | 1000 | 1 | O 3960 1@ — —
1|AEREE M (B missFE4A1B| 24 43 1000 | 1 0 3300 A — —
8|treee ki ?fﬁf‘*ﬁkjw a2 AeE| 47 11 | 234 | 1| o| 184600 — —
9|FRAIES i e meoE2A18| 34 37 | 1000 | 1| 0O 54000 #r — —
10|iEERT M (B Fr2s%2A28A( 31 1 355 1 0 95.00 % — —
1[E=E Hrf (EE TRTE4AIB| 27 33 1000 | 2 | O 302.00| #r — —

12| BScEES e e min4aEag18]| 31 53 1000 | 1 0 4708 1A — —

20

21

22

23

24

25

26

27

28

29

30




